1/Ncdot dN/dW

Ratio to ATLAS

14

12

10

[EEY

0.5

7000 GeV pp Jets
(T T T Tttt e T T H
| WidthA_ 1 (anti-k (1.0), p >300, jn| < 2.0) -
B m ATLAS 7
| --O-- Herwig++ 2.7.1 default _
— --i1-- Herwig 7.2.1 default —
I -
: @::::::g:\ :
B / \i\\ ]
-/ e 7
L =D _
B g -8

| | [ | | [ | T [ R | I |
:l T T T T | T T T T | T T T T | T T T T |:
e - S B i

SECE g8 =0
1 g -

I T T T I R T T I R T T I T T T l

0 0.1 0.2 0.3 0.4

Rivet 3.1.10, = 2.3M events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


